Distributive Property Cut and Paste

(5x9) + (Hx9) = 8l

9%9
(9x3) + (9x6) = 8

(2x9) + (7x9) = 8l

(3x7) + (5x7) = 56

8x7

(8x2) + (8x5) = 56

(4x7) + (4x7) = 56
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(8xI0) + (8x2) = 96

8x12
(8x6) + (8x6) = 96

(2x12) + (6xI12) = 96

It's your turnl Credte three drrdys dnd equdtions to represent 6x9.




Cut out each of the squares below and glue underneath the corresponding equation.




(5x9) + (H4x9) = 8l

9%9
(94x3) + (Ax6) = 8l

(2x9) + (7x9) = 8l

(3x7) + (5x7) = 56

8x7

(8x2) + (8x5) = 56

(4x7) + (Mx7) = 56




(8xI0) + (8x2) = 96

8x12
(8x6) + (8x6) = 96

(2x12) + (6xI12) = 96

It's your turnl Credte three drrdys dnd equdtions to represent 6x9.




